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In AABC the following relationship holds:

_ _ _ 2 593
sin4 + sinB + sin C + 1 5 =
OS> COS- COS

Proposed by Nguyen Hung Cuong-Vietnam
Solution by Tapas Das-India
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We need to show:
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sin4 + sinB +sinC + B 2
COS = COS —COS— 18
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or,18(8R? + s?) > 59vV3Rs or,
R
—=x

144R? — 59v3Rs + 18s% > 0 or, 144x% — 59V/3x + 18 > 0

We take f(x) = 144x% — 59V3x + 18, f'(x) = 288x — 59V3 > 0
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so f(x) is an increasing function
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We can sa xX) = (—) or,f(x) = 0 or,
yfx)=>f 373 f(x)
144x% —59V3x+ 18>0

Equality holds for A = B = C.



